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Time : 3 Hours Marks : 200
Instructions :

(i) Eachquestion carries one mark.
B8 BHH wf Srdy, .

(i) Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen, the corresponding digit 1, 2, 3or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

BHS ANS BO BHK WS TEST HBGNG JHIFTIZNK YT I SrQoB
©08 1, 2, 3 B8 4 Jdom 1S OMR 38res HES0S® ©4) dopgd addm Ko
002058 DL /e S Food DY) BIRTrA0D JoHSB.

Read the following passage and answer the questions from 1-4

It was Germany and France that the first successful attempts were made to produce an internal -
combustion engine driven by petrol. In England, people were strangely timid about horseless
vehicles. English inventors were handicapped by a quaint old law that forbade any such vehicle to
attain a greater speed than four miles an hour, and compelled each one to be preceded by a man
carrying a red flag. This law was not repealed until 1986.

The earliest motor cars were looked upon as mere jokes, or as rather dangerous playthings, by
everyone except their inventors. Some of them were single-seaters, others would carry two or
even three people; but all were noisy, clumsy, queer-looking things. When in 1888, Carl Benz, a
German, produced a three-wheeled, internal combustion car, a great forward stride had been
made. Another German, whose name, Daimler, is often seen on motor cars to this day, was
experimenting about the same time, and testing a petrol driven engine.

Itis understood how the introduction of the petrol-driven engine revolutionalised road transport
throughout the world. Until then the necessary power to push a vehicle along could not be obtained
without the cumbersome tanks, boilers and furnaces of the steam engine. The internal-combustion
engine is light in weight and small in size by comparison; the fuel is burned in it, so that there is
no waste, like the durty cinders of a coal fire.

1.  How did most people regard early motor cars?
(1) Not better than horse-driven engines
(2) A mere joke, or as rather dangerous playthings
(3) A mere scientific experiment
(4) Acumbersome vehicle

2. What were all early motor cars?
(1) A plaything or toy meant for engineers
(2) Avehicle better than horse-driven vehicle
(3) Noisy, clumsy, queer-looking things
(4) Dangerous but beautiful

3. What made the English inventors handicapped?
(1) The general public did not welcome the invention
(2) The quaint old law that forbade any such vehicle to attain a greater than four
miles an hour
(3) Non-availability of adequate fuel power the engine
(4) Awvailability of micro-air vehicles
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4. What is incorrect about the internal combustion engine?
(1) fuel burntin itas waste (2) lightinweight
(3) noisyand clumsy (4) smallinsize

5. Whatis the synonym of ‘amenable’ in ‘Both parties were amenable to a peaceful settlement
of the land dispute’.?

(1) Doubtful (2) Unwilling (3) Responsive (4) Disagreeable
6. Whatis the synonym of ‘antidote’ in *‘Jogging is considered an antidote to mental stress’.?
(1) Poisonous (2) Remedy (3) Equivalent (4) Dangerous
7. What is the antonym of ‘transperant’ in “The window-glass is transperant’?
(1) Opaque (2) Translucent (3) Susceptible (4) Fragile
8.  What is the antonym of ‘unanimous’ in ‘It was a unanimous decision’?
(1) United (2) Partial (3) Compatible (4) Harmonious
9.  Hismother was American though his father was European.
(1) aa (2) aan 3) an,a (4) an,an
10. The coordinator was asked to attend the issue and resolve it immediately.
(1) by (2) in
(3) to (4) No preposition required
11. Either of the roads to Vasantha Nagar.
(1) lead (2) leads (3) haveled (4) areled
12. Please don’t disturb me, | the coins now.
(1) have been counting (2) count
(3) was counting (4) amcounting
13. Rishi his engineering course by the end of 2017.
(1) will completed (2) complete
(3) will have completed (4) was completed

14. Choose the correctly spelt word from the options given below.
(1) occasional (2) occassional (3) ocasional (4) occational

15.  What is the meaning of underlined idiom in “We would be glad to put you up for a few days
if youwould like to stay”?

(1) tolerate someone (2) build something
(3) provide accommodation (4) contribute something
16. What is the meaning of the underlined phrase in “‘How did you wolf down that pizza so
quickly’?
(1) Toeatgently (2) Toeathungrily
(3) Toeatslowly (4) Toswallow slowly
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17. Choose the correct order of the following jumbled sentences into a meaningful paragraph.
(@ Wages will seldom rise in proportion to the rising prices
(b) The problem of food is intimately connect with population, the market is governed by
demand and supply
(c) Without enough food, such people lack health, strength of efficiency and they fall an
easy prey to all sorts of diseases
(d) If too many people demand goods to go round, prices will rise and poor classes will

starve
(1) 1-(c), 2-(d), 3-(a), 4-(b) (2) 1-(d), 2-(c), 3-(b), 4-(a)
(3) 1-(a), 2-(c), 3-(d), 4-(b) (4) 1-(b), 2-(d), 3-(a), 4-(c)
18. Choose the correct order of the following jumbled sentences to make it a meaningful
paragraph.

(@ Adove, perched ona nearby tree, saw the ant's danger and dropped a leaf into the water

(b) Once, an ant who had come to drink at a stream fell into the water and was carried
away by the swift current

(c) Hewasaboutto fire when the ant, who was nearby, crawled forward and bit him sharply
onthe ankle

(d) Sometime after this, a hunter, creeping through the bushes, saw the dove asleep, and
took a careful aim with his gun

(1) 1-(d), 2-(c), 3-(b), 4-(a) (2) 1-(c), 2-(d), 3-(a), 4-(b)

(3) 1-(b), 2-(a), 3-(d), 4-(c) (4) 1-(a), 2-(c), 3-(d), 4-(b)
19. Fill in the blank:

Manoj played cricket for two days, he?

(1) did (2) didn’t (3) wasn’t (4) wouldn’t
20. Fillinthe blank:

Johnson has not prepared for tomorrow’s exam, he?

(1) isn’t (2) hasn’t (3) has (4) does

21. Whenyou watch India Vs Pakistan Cricket Match Finals, your younger brother asks you to
clear his doubts in Mathematics. How do you respond?
(1) Youclear his doubts patiently
(2) You shout at him for not asking before
(3) You switch off TV and go away
(4) You feelirritated

B0g RG> VS IS 838 Srgis IS TV &° Srdgdydycdo, o S50y Sy $38
HeBgoo HPES® &) DoV e0 BEHHA AL ©&AB A o BLY?

(1) 3% & doBdren LT 8HIS

(2) 50003 Jodas BEABE © TEIG BT

(B) TV & o) ddod IFedd

(4) % Qo 3X00d

P31 5-C


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i

X1 Booklet Code C

22. When you see a child facing a problem in understanding an important concept for a long
time , you advise him to
(1) stop readingthe subject (2) leave thatsubject forever
(3) take abreak and read it once again (4) by heart the concept

28 e 28 SPgRd DARTQ) VSIS BLoKZokosd 208 Do)y $oPg
Qerotd J0Tt & erendd [ ?

(1) w09 esHIctootro

(2) © $BEY IH\BE SESSG0ErSH

(3) FoBo WY WP wd, oE FIrnouso0Lrd

(4) ©gomd ®o7) af S&ySotrso

23. ltsomebody tries to hurt you intentionally, you should

(1) Retort (2) Cry
(3) Complainto police (4) Ignore
DIVE WD) ST ERYFT S HN@R0T, N Do ToSrd?
(1) &x&erd (2) Q@g®
(3) %8 porgs BoSrd (4) BBows Ercted
24, Ifyourg frifgd tells you about his personal problems thinking that you are trustworthy person,
)(/f)u Ssﬁgre it with everyone (2) Feel happy about it
(3) Maintain confidentiality (4) Look at him with contempt
Q&) S0y A Wrdocky 5 By $38K8 dHodged IS BB, Ky Jo Basrd?
(1) ©0c508 & AT Bryd (2) sk wer eHokdd Ho8RHTd

(3) © Srdrgod HSNS'I VERETO (4) THED weodomr WrEd
25. Do you produce awrong evidence to your parents regarding your performance in Exams?
(1) 1do (2) No
(3) Sometimes (4) Depending upon the situation
HOES’ B IS Srdyen SK0E EHYE errored’ 0 Srdp e ST)oRd N
9S00 BImT?
(1) 3y (2) 353 (3) wdyedyc (4) Sodond) o
26. According to you, ‘Gender Equality” means
(1) Havingwomen reservations
(2) Women are superior to men

(3) Menare superior to women
(4) Havingequal opportunities to both men and women

D 3F0S” ‘Do HEr$E0” ©oB © g5 Q0¢3?
(1) wsags g8 Tosn §0y0560

(2) Sore) 8oB edady 89S

(3) i) 8oB Sorardy 89S

(4) & Homes s578 osTTes Sobio
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27. What does it mean by “Weaker Sections”?
(1) Physically weak (2) Financially weak
(3) Handicapped people (4) People who can’t fight for their rights
‘DOTrd Sooes’ ol
(1) =688 weirdoe (2) wggor wotrdoen
(3) DEeroroen (4) ¢ SEYeEVo Fowo VoLBITHR)

28. You have beenwaiting for your friend for the past two hours, still he has not yet come. How
do you feel about him?
(1) He does not have time sense
(2) He might be having some problem
(3) If he comes, I will shout at him for the delay
(4) Leaving me alone, he might have gone to somewhere else

QD) Q W) 500 Tow Korw $08 B WrTYD), VoS FK KOS TB. VY
©EQ K800 AW ©308008057?
(1) 88 scoo BwE Jend BODG  (2) IS JdMDgE erhdod AR

(3) ok &, KYM™ eI (4) &89 568, 208 2§ &8 ITyBRI>!
29. Do you return the money to the owner, when it fell down from his/her pocket?

(1) Yes,always (2) No, Ican’t

(3) Sometimes (4) Most of the times

Q M ) Sg8 Bewe od dagyen BodHAS, P & 5388 QWyLI?

(1) 8580 addd (2) S 2808

(3) oBPEBYE @ (4) @oFrd add

30. When two persons are quarrelling with each other, you will

(1) Runaway fromthere (2) Joinone side

(3) Pacify two persons (4) Callpolice

QG Sg¥gen Ferdodrotr HoBl, W T ad) S

(1) ©¥ s $0s FoFe (2) 25088 Sedo Hewdoed
(3) =g Sg%os vy T (4) >0H% P

31. Arrange the following atmospheric layers in the correct order from bottom to top
A) Exosphere B) Troposphere  C) Stratosphere D) Mesosphere

& 808 0&YS) TESdn Fiol Bod Kol P8 VIS EHB0sS® GYEEE0
A) SRS B) &'&os C) FERes D) bo@ﬁ?oo)o‘éog
1) ABCTD (2 BCDA (3 CDAB (4 DAB,C
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32. Theterm “Dark Fermentation” means
(1) amethod to reduce CO, in the atmosphere
(2) amethod to produce hydrogen as fuel from waste water
(3) amethod to dispose nuclear waste
(4) amethod to produce methane from organic waste

‘@8, 93808AS” (Dark Fermentation) edm

(1) srersdnsns® COy & Shodh Dok

(2) Sggeeo Lod TIEEIH w8 R0EID0 SrdINS” &G T I IH0
(3) Srg8ob STy SBO0WES B

(4) oo Eéggéaa 008 MBI B T T SSw

33.  Which of the following is correct for Carbon Monoxide
A) Itis produced in the human body
B) Ithelpsintreating sickle cell anaemia
C) Iltacts asaneurotransmitter
(1) ABandC (2) Aonly (3) AandC (4) Conly
SR IrT &8 HowoHod & (Bod WEYL) TBS® HISH A6
A) @8 S5 F8850S° B8 @
B) ©& 285 S el D8 DBosndash DF%akHEosn

C) o8 o8 Srgditra)dotd orm HATBD

(1) A,/ B%dasnC (2) Alego
(3) Aodasn C (4) CS»e
34. Biological oxygen demand indicates
(1) High level of microbial pollution (2) Low level of microbial pollution
(3) Absence of any pollution (4) Water is highly pure

woHerRES wdhns dXros BAJ JrdR0H?
(1) 2898 Foo SrHEde seoigind (2) #8595 Foo WrHEHo seigHnd
(3) NS0l sPendghn BERFYHL (4) % 08 Hg3se
35. Carbon credit is
(1) the difference between the carbon emission allowed and actually emitted
(2) aloangivenbyaBank

(3) ameasure of high quality of living standard
(4) the amount of carbon in water

s8R B&E wdm

(1) 8508008 5°ES IQESE 508050 FTYHom A ©oNd TEHILH &) Sgavgdo
(2) o8 ergodo ad)S &'

(3) o8 Irow Treagd EOAS BIS Do T

(4) D8 do8 TBS &H)E BOHERE

P31 8-C


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON
Google Play

Addal247)
X1 Booklet Code C

36.  Which hormone is responsible for stress, anger and high BP

(1) Oxytocin (2) Thyroxin

(3) Adrenaline (4) Galanin

288, D50 500050 S DD O S arEgd $5g08?

(1) @85S (2) Bog 3) GO (4) Ko
37. Which of the following is known as animal starch

(1) Cellulose (2) Glycogen (3) Chitin (4) Pectin

& 808 BS® BA 2o o) Wotrdd

(1) e0ges™ (2) gg‘*éS (3) 38 (4) =88
38. InRNA, nucleotides are attached by

(1) Peptide bonds (2) Hydrogen bonds

(3) lonicbonds (4) Phosphodiester bonds

RNA &° $rg8BrB&) BAS" S06D% rodron

(2) ?;3}35 205° 0 (2) s womren

(3) 58 wo5en (4) TABIHS wogren
39. The universal acceptor blood group is

28 ABrISGHS GHNE bk 1)

(1) O (2) A 3) B (4) AB'
40. The largest organ in human body is

(1) Brain (2) Heart (3) Skin (4) Liver

SrSS 8850t ©8 DY @SahSo

(1) s (2) Koz (3) W0 (4) s8Ba%o
41. Find the next number in the series

& BBS’ S $u) Doy EHFTS0d

0, 3, 8, 15, 24,

(1) 36 (2) 35 (3) 34 (4) 33
42. Findthe number in the place of question mark (?)

BFEESD (?) S GodSodS Hopgdo EHFSod

1) 21 (2) 22 3) 29 4) 20
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Find the next number in the series

& BBS’ S $u) Doy EHFTS0d

1,1,2,3,5,8,

(1) 13 (2) 15 3) 19 4 21

Find the missing number in the series

& @FBS° S*000S (9eS5°Q) Domgdy ELoFH0d

9,25,49, 169

(1) 100 (2) 121 (3) 64 (4) 144

Observe the figures given below. Fill the place with question mark (?) with suitable number
808 drdwe H8300D RHTEESN (?) 'L GodSodS dopgds EHFSod

2 3 4 6 5 ?
9 4 36 16 49 | 25
(1) 6 (2) 5 Q) 7 (4) 9

Observe the following figures and find out the values of P, Q
& 808 Jdned H8390N, P, Q o denden EHoFSod

A AN AN

(1) 4,8 (2) 57 (3) 5,6 4) 4,7
47. Find the next number in the series

& BBS’ S $u) Doy EHFTS0d

3,10, 24, 45,

(1) 60 (2) 84 3) 73 (4) 76
Observe the following information on viewership English
of TV Channels, pertaining to families of an Hindi 3
apartment, and answer the questions from48t050. =g ERE

w8 OIFRoLS' Sotvowre T 2§ TV AVA

TIG) ST 0H H6800D 48 o0& 50 S8 e

WHe ddrgrdsoeds HgoKod v Telugu
S0
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49.

50.

51.

52.

53.

54,

55.
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How many families watch Telugu channels?
8o TIG)K V0T Sotwoere Howg Do?
1) 6 (2 8 (3) 12 4 14

How many families watch English channels?
20020 TIGK V8o Stwowre dowg Jod?
(1) 14 2 21 3) 17 4 7

How many families watch both Hindi and Telugu channels?
08 HoBasH e TIGH Bo&oLA V§o Sotwowrw Dopg Dod?
(1) 6 (2 4 (3 7 4 17

If Red is called Yellow, Yellow is called Green, Green is called Blue, Blue is called Pink,
then usually leaves colour will be

(1) Green (2) Pink (3) Yellow (4) Blue

283¢ Y0 DY DT, H0) DB SBDHTS, sHDF) dwordd, Jwo
o) ooy 980808, rrdmont eioen €8 $oke® oo

(1) esSodgy (2) Koord Sord

(3) DR D) (4) Qoo

If UMBRELLA is coded as VLCQFKMZ, then JUSTICE is coded as

2.§3¢ UMBRELLA % VLCQFKMZ (&%, JUSTICE o3 &) aor $rdd
(1) KSSTIBF (2) KTTSICF
(3) KTTSIBF (4) KTSSIAF

If TBDIJO is coded for SACHIN, then which of the following words is coded as IZVOEBJ

2.§3¢ TBDIO % SACHIN & 86 $r0, IZVOEBIS 9 5708 S&m drdowsi)?
(1) SAMURAI (2) MARUTHI
(3) HYUNDAI (4) CRICKET

If TEN, GANG and MEAT are coded as 439, 6596 and 1354 respectively, then how is
MANAGEMENT coded?

2.83¢ TEN, GANG %8050 MEAT o3 dmrod $8dm 439, 6596 Sodasn 1354

500%, MANAGEMENT &3 $5°9) der Srd@nso?
(1) 1595363194 (2) 1595313694
(3) 1595361934 (4) 1595631394

If 15t April of year falls on Sunday, what is the day on 151 August of the same year?
(1) Monday (2) Tuesday (3) Wednesday (4) Thursday

2.8 doIE)Bd0 ARS wELY BOS BHTEIN W08 & DoSE TS0 esrby 159 88 @
e 530087
(1) &Boargdn (2) Sookgarsdn  (3) ewgarsdoo (4) KoSarssm
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56. 151 August, 2016 falls on Monday, what is the day on 15" August, 2017?
(1) Monday (2) Wednesday
(3) Sunday (4) Tuesday
15 ey 2016 S Foardo wond 15 ey 20175 o &er ©Hsbod?
(1) &Boargdn (2) eugorsSon
3) esdIES0 (4) SoongTEB00

57. Secretary has arrived at 10.10 am, 30 minutes before chairperson. Chairperson arrived
10 minutes late to the scheduled meeting. When is meeting scheduled?

208 DS3rIF5088 FPedHes 2ELoS 10.10 am o ?.65:3653. 0308 @5‘5)({)5 808
30 doiren H0oc Sk, FE HHIMTE RRT] &)Qé D558 10 D.e0 sedgomr
ST, BETHY DES HB0HBN Jos?

(1) 10.40am (2) 10.10am
(3) 10.30am (4) 10.20am

58. Shankar is 81 from top and 24" from last in his class. How many students should be added
to make the strength 40?

$088 85 SEK8S® J00&8E Sood 8% @;SSOQS*S&) D38 Sood 24% @(;’56066563 . &

S5K8S” Bngo Darghe dopg 40 Gomrewod 208 Jod HH0d Jarghoss EwrTrd?
(1) 8 (2 9 (3) 10 (4) 16

59. AGirl travels 6 kmand takes left, further travels 8 km. What is the straight distance to that
position, from the starting point?

2.8 @010 2.8 BEYS” 6 8.5, IANS SHTE A%I0IY BBA H06°8 8 8.2r. HASTBONIST,
@ES50 8B G P8 SodAD Il 200RTRBS FTI8 G drdo dod?
(1) 12km (2) 10km (3) 9km (4) 14km

60. Whenaclockis showing 10 ‘O’ clock, the hours hand is showing north direction. At what
time does the hours hand show ‘southwest’?

#&asrdo 10.00 300500 JrD0DIYE Hoboo Inen &d8 &F I DR, @ DR0STE

foboe Soe 208 (south-west) &5 wSrbdyos?
(1) 5:15 (2) 5:30 (3) 4:00 (4) 4:30

61. Observe the sequence given and find out how many letters are immediately followed by a
number and preceded by a symbol?

QS E0B0 H8390D, Q) WETeL T S0l 28 DR HBXBN SHTE 2§
©08d $OA &R HYowod

M*K5L*N3X?P4*LM%N4
(1) 2 (2) 3 (3) 4 (4) 5
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62. Threeengineers P, Q, R are designing a project. Can we find out in how much time all the
three engineers will complete the designing, observing the following statements?
. P &Q cancomplete the design in 2 months
II. Q&R cancomplete the design in 1%2 months
lll. P &R cancomplete the design in 3 months.
(1) 1&Ilaresufficient (2) I, 11 &Il are sufficient
(3) I, I & lllare insufficient (4) 1&Illare sufficient

P, Q, R o3 S 20896 of @B55 885 3o, & 808 BEbses 568000,
&5 S0 2028 & HIJ IQ) Fwres® Frh BRG® A SIWYT?

. P %0005 Qen 3o Jves® ARBIL g B,

Il Q%0080 ReEBHS Jvws® GBISH o B

. P S500csn R ev Sord Jos® ABIS I8 Brsd

(1) 150050 Il 08 880fS58)8 (2) 1, 1500050 o8 8o SSuaydo

(3) I, 1 508030 Il ©08° 5038500 (4) 1500050 & oSS

Study the data given and answer the questions 63 to 65 based on the same.

Six friends A, B, C, D, E and F are sitting on the corners (vertices) of a Hexagon shaped table, all
facing towards centre. ‘A’ sits between F and C. D is on the second right of B and is the immediate
neighbour of C.

8o NS $70aQ) H8390D 63 ok 65 I8H Ko PHB =aDdOI0Y

& Dgden A, B, C, D, E 5580850 F e 2.8 &2 e57do Ko 2 Jroov (%U:P‘)) SKs
B850 Srdo Erdyad. F 08a8n C o Sodgd A Srdyanch. B § 5839 Bods oo
D 08050 D & 9§38 C ewamik.

63. Who sits exactly opposite to E ?
E £ pd)dormr Ic08m d58 Srdy)ans?
(1) D (2) C (3 B 4) A

64. Who are the two immediate neighbours of ‘B’?
B % 280390 wd) add 587
(1) EandD (2) FandE (3) CandB (4) AandD

65. Who is sitting on the side exactly opposite to ‘D’ ?
D % pdydorr dchdom d38 Erdy)an&?

1) F 2 B 3) A 4 C
1 1 1 1
66. [1—5j[1—§J(1—ZJ....(1_Hj:
L 2
O oy @ ®) 5 @ 3

P31 13-C


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i

X1 Booklet Code C

67. Theratio of two numbers is 3:5 and their H.C.Fis 5. Then, their L.C.M is
ok dopgen 35 INGS® GImow $005» A H.C.F (H.ar.e) 5. 0dvdd & dopge
L.C.M (8.3°.%0)
(1) 45 (2) 35 (3) 150 (4) 75

68. The smallest number which when subtracted by 11 is divisible by 16, 18, 21, 24 and 28 is
o8 dopg $ood 11 EITDS S 16, 18, 21, 24 500050 28 0 eriodad dopges®
©8 QX)) dopg
(1) 1109 (2) 1119 (3) 1019 (4) 1214

69. Theagesof Aand B are inthe ratio 3:5. Ten years later, the ratio of their ages will be 31:45.
Their present ages are (in years)

A 358050 B @), Ioidgen 315 IQBS’ twamow. H8 Jodddne SHard, 570
$05009)0 NG 3145 ©PHBrod. 778 RS ScdYen (DodE)Es0 ST
(1) 21,35 (2) 24,40 (3) 18,30 (4) 27,45

70. Silver and copper are mixed in the ratios 2:5 and 4:7 to prepare two alloys Aand B. Equal
quantities of these alloys A and B are mixed to prepare a third alloy C. The ratio of silver
and copper in C is

2:5 500050 4:7 diSos® Bod H00a%0 oA 0D A H0csn B o) Dok S
55008 ERFEHBTH. & S5 Fsnes A, B o ddarmes 818D §0 $amiS
&% QoFsosn CA Sardd Sed. & oEosn C&° &) Bod H000 oo ING
(1) 35 (2) 2552 (3) 25:49 (4) 15:27

71. Ashop keeper reduced the price of sugar by 10%. A person can buy 2 kg more sugar for
Rs.900. The difference between the original price and the reduced price, per kg, is
(in rupees)

28 o5emrdid Howumrd $68 10% ShodT k. .8 $g8 . 900 0s® 2 kg © Hokard
Q¥ S Fdxoc. 1 Kg Holard RBuog), oden 88, SHodS $85 Sy Sgergdhsn
(SrFrcSos®)

(1 5 (2) 6 (3) 4 4) 3

72. Inan election between two candidates 80% of the enrolled voters voted. Of these votes,
5% votes were declared invalid. The winning candidate got 32490 votes which is 60% of
the valid votes. The total number of voters enrolled in the election is

QG0 VgRO g BOAS w8 JVEIS® ST ©od LLFS® 80% Sood L.tx I, &5
308 8,46 (Votes) 5% 2. HOGESD 5P ©I dgonoddy. AODS weges 32490 L&y

Somyon. 28 H0 ©ond L8S® 60%. @ond, Ingo SIr Yol Léd bopg

(1) 75850 (2) 64750
(3) 82500 (4) 71250
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73. ApersonAstarted a business with investment of Rs.3,00,000. Asecond person B joined A
afterwards with contribution of Rs.4,00,000. If the profit at the end of the year is shared
equally by Aand B, after how many months did B join A?

08 558 A, 8 argardsndo & 3,00,000 enass® (@rdodomrd. Fodsredn Sdard
oS $g8 B . 4,00,000 2epacs® AS® Homik. Hos&)orodtnsd SO erednds A, B

@0 DSBS Hote, B Q) Jvew g AS Ddadd?
1) 1 (2) 2 3) 3 4) 4

74. Threeindividuals A, B, C start a company and contribute a total of Rs.P towards its running.
A contributes Rs.50,000 more than B and B contributes Rs.50,000 more than C. If the
contributions of A, B and C are in the ratio 8:7:6, then P (in rupees) is

S8 Sgggen A, B, C oo 8. P 0tnadé’ o8 $0JQ (@rdoomrdd. B 28S ninad
83y ADES s . 50,000 2898, CES enad 85 B2E3S enad 8. 50,000
89S, A, B, CgS inacdoen 8:7:6 INES® woB, wdyi P (Srarabes®)

(1) 10,50,000 (2) 12,00,000 (3) 13,50,000 (4) 14,00,000

75. Theaverage of four consecutive numbers A, B, C, D is 55.5. Then, the product BC =
TP $800 dopgen A, B, C, D o diéx 35.5. STNI<SH ©Ro BC =
(1) 2580 (2) 3060 (3) 3080 (4) 3660

76. A cricketer's bowling average is 9.5 runs per wicket. In the next match, he takes 3 wickets

for 19 runs. His bowling average after this match decreases by 0.1 runs. The number of
wickets taken by him before this match is

w8 §8LE6 RBw¥) FOof (bowling) Hren 2.8 J8LE 9.5 JSHhen. & SHTE Rowes®
w85 19 6Her af) 3 JBLy BRETYH. & 2T SHTE ©EJ TR B

0.1 DSren SH08. & FowW S0 &8 ST Jndo I8 Bopg
(1) 96 (2) 92 (3) 90 (4) 84

2
77. Apersonsold 3 rd of his articles at a profit of 35%. The rest of his articles were sold at a
profit of 23%. The overall percentage of his profit is

2
2.8 538 @8 g &) S Hod’ 3 3 $080, 35% el B ©Aoyordd. e HSB oD

23% &rgfdnsB @I . VR VS8 JEo ©INEINS® SYS orel TSB0
1) 27% (2) 29% (3) 30% 4) 31%

78. The profit earned by selling an article for Rs.950 is double the loss incurred when the same
article is sold for Rs.650. At what price should the article be sold to make 30% profit?
2.8 50993 &r. 950 o @B SN orefn, ©F $BHD> &, 650 8 wIB ST) SIS
B0 Ben. & SHPK0 2 $88 008 30% ereSn Syod?
(1) 875 (2) 920 (3) 975 (4) 1025
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79. The simple interest on a sum of money P is =0 of the principal amount P and the number of

1 . : :
years is > of the rate of interest per annum. The interest rate per annum is

1
wden By P rerde 5§ P&° 0 0 @000, $o0asw Dodore Dopg FFTEw

58S Bilariisn wonod. EH3E $o5HEY $EFL0
(1) 6% (2) 5% (3) 4% 4) 2%

80. ABanklends Rs. 3,00,000 to a person Aat simple interest 8% and Rs. 2,00,000 to another
person B at simple interest 10% for T years. If the Bank receives an interest of
Rs. 1,76,000 at the end of the period, then T = (in years)

w8 eroo, Awso %588 & 3,00,000 ok rErSgId 8% DS Hodasn B e $588
8. 2,00,000 oS Sedg & 10% TIPS T SoSodyghsnesn ©IY N0, & FOIN

g wod Stard ewrosody &r. 1,76,000 5& £, wdvdd T = (vos3g)8dned”)
1) 5 (2) 4 (3) 3 (4) 2

81. The amount deposited in a bank for 3 years at the rate of 10% per annum, compounded
yearly is given in ListI. In List I, compound interest is given. Match them

28 27080”5058 WESG 10% TH9S 3 DoSSKneR IS Bugdned HE | &°
25c@5D. BEIGe0 K8 Il &° 25@BID B adHSSd.

List - | List- 1l
(@ 20000 (i) 7850
(b) 15000 (i) 3310
(c) 10000 (iii) 4865
(iv) 4965
(v) 6620
Correct match is
BORS £
(1) a-v, b-iii, c-ii (2) a-i, b-iv, c-ii
(3) a-v, b-iv, c-ii (4) a-i, b-iv, c-iii

82. 6 menand 8 women cando awork in 40 days. 8 men and 16 women finish the same work in
24 days. In how many days can 10 men and 8 women finish the same work?

28 DA BrHS Heo H080%w 8 Ho0d Yoo 40 SFwed® Grl B, ©F HI 8 Hod
DBoR0e0 $o0080 16 $08 Qe 24 Fwed® g B, ©B HIJ 10 Hod YW
$08050 8 $:08 Qoo Q) Fwes” Y BAL?

(1) 16 (2) 24 (3) 28 (4) 30
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83. ApersonAcan paint a house in 30 days. Asecond person B can paint the same house in 36
days. Both Aand B work together for 15 days. Then, A goes away. The number of days that
B takes to complete the painting is (in days)

Ao 558 30 Sares® a8 K083 Howo Doy, B @& Bods S8 3 2083
36 SPereeS® o0 BodoKerdy. A S08asn B QS 80D 15 Seren DARTE. SKoaees

ABFSrdo. WKHeHAD B irg Botobts sHods Hoahsn (Swres?)
1) 3 (2) 4 @) 5 (4) 6

84. A person lefta city P to go to city Q at 6.30 a.m. He travelled at a speed of 90 km/hr for 2
hours and 30 minutes. After that, the speed was reduced to 50 km/hr. If the distance between
the cities is 345 km, at what time did he reach the city Q?

28 558 6.30 a.m K Hegeasion P ook Hiyeadn Q 8 wohendords. wsss 90 km/hr 3xKos?
2 fotoe 30 DBH0RJwen PoSrBowmrdd. & Shard B 50 km/hr 8 Shooedo. &

Diasne Koy $rdsd 345 kM @08, @8 Hiesn Q 8 JHvE Bork?
(1) 10.25a.m (2) 11.15a.m (3) 11.24a.m (4) 11.50a.m

85. Atrain 80 meters long is running at a speed of 80 km/hr. The time that the train will take to
pass a platform of length 120 meters is (in seconds)

€ 80 f)aéociam e a8 3eo 80 km/hr IKos® HeAG SR, € 3o 120 f)aéociam

o Ko w8 Jinddo (platform) S Tenes SSeds dHchin (PEogS?)
(1) 65 (2) 85 3) 9.9 4) 9

86. ¢ and B are the roots of the quadratic equation px2 +0x+r =0. Match the items in List
land List Il

58 DEGs0 PX°HOX+T =0 Goog), Saroren o S08050 B 588 | So8ako 538 Il
S YS TE BE5ES0&.

List - | List- Il
538 - | 538 - 11
1.1 o g°-2pr
(a) a+ﬁ () 0’
a B . gi+2pr
_+_ -
® 5t (i)~
2
... q°=2pr
2 2 I
© o?+p (i) =
iv) -2

r
Correct match is

LORS 3¢
(1) a-iv, b-iii,c-i  (2) a-iv, b-ii, c-iii  (3) a-i, b-iii,c-iv (4) a-ii, b-iv, c-lii
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Three cubes with sides in the ratio 3:4:5 are melted to form a single cube whose diagonal
is 18+/3 cm. The sides of the cubes are (in cm)

3:4:5 dHBS® shasows Ho Sordd wSsnos E0A0D, 18V3 Ego Ko af Dossn

SASTFERANDEIH. &8 HSL0e ghHhadnen (Ro.doees?)
(1) 3.4,5 ) 68,10 3) 9, 12,15 4) 12,16, 20

A ladder which is touching the top of a pole makes an angle 60° with the floor. Its lower end
is at a distance of 4 meters from the pole. The length of the ladder is (in meters)

28 Qo 3Pp0od8 @ &) wf IF)S Jod 60° Sl BIFod. @ IFS Bod &S

H0e805% 4 b SrdSns® BHd. © IFS BnE) FEY (WLds’)
(1) 6 (2) 8 3) 9 (4) 10

V1225 +/0.0615+ X =35.25 = X =
(1) 0.001 (2) 0.0001 (3) 0.02 (4) 0.01

If 2a=3b=4cand a+b+c=26y61, then /a2 4+ p2 + c2 =
2a = 3b = 4c wo, 0080 a+b+C=26V61, wond, wiydo /a2 +h2+c? =

(1) 144 (2) 361 (3) 104 4) 122
The dimensions of kinetic energy is same as that of

(1) Force (2) Work (3) Momentum (4) Velocity
K@2g Boof), HOSFEN & 800 TS BIS HETESNT GoKS

(1) =0 (2) % (3) GSgRso (4) 3IKo

The instrument used to measure sounds under water is
(1) Hygrometer  (2) Hydrophone (3) Hypsometer (4) Gramaphone

de3eS° (AESSISE SRR SISVEACIES GIRFAOT HOEESD
(1) s (2) - E>S (3) s 4) oS

Convert 10 inches into kilometers

58 (10) worhered 85 LIPS A8 Sordy)Hn
(1) 254 %1073 (2) 254x10%  (3) 2.54x104 (4) 25.4x104

A monochromatic radiation was beamed on a distant planet from Earth and the reflection
was received after seven minutes. If the velocity of the signal is 3x108 m/s, then the distance
between the Earth and Planet in meters is

28 IS EIrBE TEHASH ¢ordd $ood Srddomr &&) Ko 8dwozo (beam)
Ve, 06 HoSISE0 Tod A AWNTO SHTE BOIG. wEIY 1S Bwg), IKo
3x108 m/s ¢oB, & $38050 (o Kogsy ) ErEsn Dordes®

(1) 3.15x108 (2) 3x10t° (3) 6.3x10% (4) 3.15x10%
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The value of Planck’s constant in Sl units is
Sl 052 d4e® 30§ Yorogo (Planck’s constant) densd
(1) 6.62x10734Js (2) 6x10%8Js (3) 10x105M1 (4) 8.314x1077J

Which of the following is not an antibiotic

(1) Erythromycin (2) Tetracycline  (3) Oxytocin (4) Ofloxacin
& 806 6N TBST A8 HBronairid§ 50

(1) VS0 (2) BEr8S (3) ©8)&5°>S (4) sy
Chemical name of Dry Ice is

(1) SolidH,0 (2) Solid O (3) SolidCaCO3; (4) SolidCO,
@ PR RBE), S8 JU0o

(1) & H,O (2) % O3 (3) % CaCOj (4) 208 CO,

Which one of the following atmospheric layers help in radio communications
(1) Troposphere  (2) lonosphere (3) Stratosphere  (4) Mesosphere

& 808 28K TeHdn FEOS’ A& DART E50rgATAYR HFFAHES0
(1) @&Fno0s  (2) waHbITHo0s (3) Fetayos  (4) bo@ﬁ?oo)o‘éog

Among the elements given below, which one has the highest electronegativity

& 808 0K Soroines” B8 ©8 &S w0JBgmEIEE Sk
1) cl (2) Br 3) © (4) N

For an endothermic reaction where AH respresents the enthalpy of the reaction, the
minimum value of the activation energy will be

28 GHPTTE SEgS° D05rdy Bg) S8y AH 9 580085 88 9§ Sy ©8 S80S
Qend (Minimum value) ger oo

(1) <AH (2) = AH (3) >AH (4)  Zero (20%))
According to which inscription ‘Rudraveda’ was called as ‘vinayabushana’

(1) Hanumakonda Inscription (2) Mallapur Inscription

(3) Tripurantakam Inscription (4) Draksharama Inscription

Q TI80 HIBBHA ‘DI grhenrdtd’ © BenHSod

(1) P8l THd0 (2) Hoodrs TS0

(3) ®Horosgo IS0 4) zos Tl

The Perini dance performed by women for the pleasure of man was known as

(1) Lasyam (2) Ramyam (3) Bhogam (4) Rasamayam

HEDO8 JoRodToeo §do é’_ooe;a B 20D $)BgR) B0oLrd

(1) erdgo (2) &Sogo (3) =Ko (4) 8dB00%0
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103. Match the following :

(@) BayyaramTank (i) Jagadala Mummada

(b) PakalaTank (i) Prolarajul

(c) Kesamudram Tank (iit) Mailamba

(d) Nagasamudram Tank (iv) Nagambika

& 808 A eSDEYB0

(@) edSrgdo BY () =dare S0y

(b) rsro BSKHY (i) JosE @Foorer

(c) Sd30Eo BKY (i) Soerow

(d) KIS0 BKD (iv) omrods

The correct answer is

BOROS BEFEEB»

(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii

(3) a-iii, b-i, c-ii, d-iv (4) a-iv, b-iii, c-i, d-ii
104. Which of the following Diamond Mine locations is wrongly Matched

(1) Kolluru - Guntur District (2) Paritala - Krishna District

(3) Vajrakarur - Chittoor District (4) Gandikota- Kadapa

& 800 Sre Ko PWiTLS® A8 YT BEHHWEE

(1) Sord - Hotordd 2 (2) Hotre - gyr zer

(3) HE8ErS - QSRS Ber (4) Kod&e - 8%
105. During the Qutub Shahi period which of the following place was famous for Indigo

production

(1) Kolar (2) Nagulavancha (3) Nizamabad (4) Mantena

LETre HTFVSTOS’ & 808 FEST IO JD ok wEB8 BHY Bokod

(1) &b (2) ohodoss (3) Jderdorerd (4) 0085
106. Match the following :

(@ Sivadevayya (i) Pratapacharitramu

(b) Ekamranatha (i) Nirostya Ramayanam

(c) Manchana (iit) Purushartasaram

(d) Shakalyamalla (iv) Keyurabahu Charitra

& 808 A eSDEYB0

(@) 5THasog (i) ©ed K8 o

(b) JsPoargsocs (i) &%y ordrasemo

(c) oo (iif) Hoarg Fdo

(d) TEogoy (iv) Scdarderdo €o|E

The correct answer is

BOROS BEFEEB»

(1) a-ii, b-iii, c-i, d-iv (2) a-iv, b-ii, c-iii, d-i
(3) a-iii, b-i, c-iv, d-ii (4) a-iii, b-ii, c-i, d-iv
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107. Arrange the following in chronological order

(@ Sikander Jah (b) Mir Mahabub Ali Khan

(c) Nasiruddaula (d) NizamAli

& 8080 AV FrOER0M W8I0

(@) 8o&s = (b) 6 Sodrerd ©dS

(€) v&Jer (d) Qero e

(1) d,acb (2) ab,cd (3) b,c,d,a (4) ad,cb
108. Which one of the following was the first Yakashaganam in Telugu

(1) Yayaticharitra (2) Sugrivavijayam

(3) Tapati Samharanopakhyanam (4) Kridabhiramam

& 800 TS B In0QINEE oSO

(1) oScsrd $o (2) DoBs ducso

(3) 858 JoH TS ryrgSo (4) ézHordoo
109. Which one of the following recite the stories of the ancestors of Lambadas

(1) Bhats (2) Ranjus (3) Pardans (4) Bikshus

©0erbe SrePHe EIE PG & §od F8S° IS mho VA

(1) efeSex (2) Soeren (3) Sodoen (4) BgSe
110. The Yanadi Bhagavatam is also known as

(1) Garudachala Bhagvatam (2) Ankamma Bhagvatam

(3) Ellamma Bhagvatam (4) Pochamma Bhagvatam

B IS ) €8 AP0 DI

(1) BSHhmse ridso (2) ©0859 wrisso

(3)  dusyy wrirSso (4) 580y erdSso

111. The Akkanna-Madanna Temple in Hyderabad is located at
(1) Bahadurpura  (2) Shalibanda (3) Golkonda (4) Karavan

TSt @8 $H-Srdd) Borocho 1§ E God?
(1) o5&sesHo (2) TOp0é (3) AeHod 4) s 8

112. Who among the following Jagirdar helped the British to suppress the 1857 mutiny in
Hyderabad state.
(1) RajaRameshwar Rao of Wanaparthy
(2) RajaVenkata Laxman Rao of Jataprole
(3) RajaRambupal Rao of Gadwal
(4) RajaVenkataraya Nayak Rao of Palwancha

& 1808 TOS® Q) JoTTRHE T ETwrdy S0k 1857 Srhartnds wekdos® HER
TB8 DICDETE

(1) o oRd6 oo - S9H9 (2) o Job wEponY) - L

(3) Tz o Fr>rd oo - Kogd (4) o 0800700 A0S T - Fgol
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113. The Shivaram Wildlife Sanctuary is located in which of the following districts of Telangana

(1) Adilabad - Nizamabad (2) Mahabubnagar - Medak

(3) Karimnagar - Warangal (4) Adilabad - Karimnagar

BoomrS'A & 808 BeNS® I ¢ 35070 SSgred HBodEe Soo wob?

(1) esdorerd - Jerdorersd (2) SoBrerddKNs - 0&E

(3) 8603%6 - S80KS (4) obeorers - 80558
114. The Police Action against the Hyderabad State was also known as

(1) Goddard plan (2) Razakar plan

(3) Jai Hyderabad plan (4) Choudariplan

@ orago R 2008 0D WG & Do Erd Dewdndd?

(1) Feg &S (2) =88 S

(B) B Tloerd S (4) &6 e

115. Who among the following Lambada leader fought against the “Visnuru dora’ during Telangana
Armed struggle.
(1) Jatoth Tanu Naik (2) BhalluNaik
(3) Tejavat Dasunaik (4) BhukyaBalya

& 808 TAS D ©oerd TPaEIE B0 FPOINEG Ford 5700e” DBdrd 8’8
$g&3Eor Forto VI K.

1) &S o Ta§ (2) wey Sa§
() BerldS oIS (4) ensg ereg
116. One of the following was not associated with designing of ‘ Telangana Talli’ statue
(1) B.S.Ramulu (2) Bhoopathy Krishnamurthy
(3) Prof. Gangadhar (4) Pasunuri Dayakar
Boomrn SO IFT ErHEONSS” & 08 TOST IV KAy K.
(1) 9.2%. ordoen (2) 28 §RS%>rY
() wwdy fomes (4) H20870 S5:E6

117. The Commission investigated the incidents related to 1952 Mulki Movement in Hyderabad
was headed by whom of the following

(1) Vaman Naik (2) AkbarHyderi

(3) Jagan Mohan Reddy (4) Ramachari

TEeerd 1952 $008) g b  $orgh) B0RS & §od T0S° AN TohEEco
SYopleTnilob)

(1) oS 00§ (2) @86 s

(3) =6 oG (4) odrard
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118. Who among the following undertook the indefinite fast during 1969 Jai Telangana Movement?
(1) Kolisetti Ramdas (2) T.Purshotham Rao
(3) Potu Krishnamurthy (4) Annabathula Ravindranath

1969 B 8worre wdgiso0s” & 00 TS N Ik wdn TS &F
@Soow

(1) §838 ocHhood
(3) o nserg

X1 Booklet Code

(2)
(4)

8. HoFES T
VIRKY EAOETE

119. Arrange the following in chronological order
(@ Eightpoint formula (b) Six point formula
(c) Five point formula (d) The Presidential order

& 808 T8 T E00S” WHES0

(d) 0W8 drEre HPEo (b) & drEre HEgo

(€) wond drere HEEo (d) GRBIDHS egs

(1) ac,b,d (2) ab,cd (3) d,b,c,a (4) b,adc
120. Match the following :

List - | List- 1l

(@ Telangana Information Trust (i) 1997

(b) Telangana Students Forum (i) 1998

(c) Telanganalkya Vedica (i) 1991

(d) TelanganaJanasabha (iv) 1986

& 8§08 A 23ENBTWBD

e - | e - |l

(@) Boomrs AN{AS (i) 1997

(b) Beomre drRo o (i) 1998

(C) Boome 285 68 (iii) 1991

(d) Boomre 2338 (iv) 1986

The correct answer is

BOROS BEFEEB»

(1) a-i, b-ii, c-iii, d-iv (2) a-iv, b-iii, c-i, d-ii

(3) a-ii, b-i, c-iv, d-iii (4) a-iii, b-iv, c-ii, d-i
121. Arrange the following in chronological order

(@ Sakalajanaula samme (b) Million March

(c) Sagaraharam (d) SadakBandh

& (808 T8 srerdoEoon @o8y)Sn

(@) DBoudo S0y (b) DOHS $G)

(c) K8 H%80 (d) %885 200&

(1) b,c,da (2) adcDb (3) ab,dc (4) b,a,d,c
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122. Who was the convener of Telangana State Advocate Joint Action Committee
(1) M. Rajender Reddy (2) Tanneru Sriranga Rao
(3) GandraMohan Rao (4) P.Govardan Reddy
80 T°g TFONT RO P00l GES EBE IS EASET wodod
(1) o%0. @06 3G (2) 8 ZdoroD
(3) Ko IrdrSod (4) . F°5gS G

123. Which one of the following is not correctly matched.
(1) Bellaiah Naik - Lambadi Hakkula Porata Samithi
(2) Dubbagatla Narsing Rao - Munnuru Kapu Hakkula Porata Samithi
(3) BelliKrishna - Golla, Kuruma Hakkula Porata Samithi
(4) \Valigi Prabhakar - Erukala Hakkula Porata Samithi

& 1808 TAS® DB HOWONS ST

(1) Bgog oD - woerd iy e Fordy SN

(2) Soeiey S9)orTr - SIS Y TEY o Fordd DS
(3) BYER - e, HHH Ty Forey DS

(4) =08 Berss - e i Dol O

124. The Sakala Janula Samme was organised by which one of the following
(1) TelanganaJointAction Committee  (2) Telangana Vidyavantula Vedica

(3) Telangana Rashtra Samiti (4) Telangana lkya Vedika

& (808 T70S° AP Jouio K LY

(1) Boomres 200085 e85 & (2) Bwomre JdorgHosHe I8
(3) Boorrs org VNS (4) Bowomr 0EgI6E

125. When was the A.P. State Reorganisation Bill introduced in Lok Sabha by Home Minister
Sushil Kumar Shinde

(1) February 3, 2014 (2) February 13,2014
(3) February 20, 2014 (4) March1, 2014
BOEHBT YIEIGIREE Dol FPoB0® WISESFE 208 SEHLS® DTy HBF DG
(1) >e%8 3, 2014 (2) %8 13, 2014
(3) %8 20, 2014 (4) S8y 1, 2014
126. Atwhich Indus valley site maximum wells were discovered?
(1) Harappa (2) Mohenjodaro (3) Dholavira (4) Kalibangan
0G0 THOESE BodS Q) PBFSNS® wEshHEom erPHen E808Y dar0x0?
(1) sy (2) IoToF s’
3) Fodor (4) 592048
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127. Given below are two statements one labelled as Assertion (A) and other labelled as
Reason (R):
Assertion (A) : Iron technology played a crucial role in the expansion of the Aryans into
the Gangetic Valley.
Reason (R):  The Gangetic valley had thick vegetation which could be cleared only by
implements of strong metal
The correct answer is :
(1) Both (A)and (R) are true and (R) is the correct explanation of (A)
(2) Both (A)and (R) are true, but (R) is not the correct explanation of (A)
(3) (A)istrue but (R) is false
(4) (A) isfalse but (R) is true
& 808 2502088 Toch arEganen 288 WSS (A) Sot sEdn (R)
Re>SS (A): g Hordd (@PodSnsE JYdowkos” aled J0SBE Hoepdo
30pgBo00d PG SiroRod.
580 (R): Homrdd H0oirE (rogios $63:500008 ©dego wodod. H) eod
S HAB0YSE SrE SwNoITAE JeHFod.
DO DA s
(1) (A) 208050 (R) @0 Bodr dezo $08030 (A) & (R) 28@o0nd D58
(2) (A) 208050 (R) o Bodr dzo. 572 (A) 8§ (R) 38w00d 580 5°&0
(3) (A) d=o (R) 82y
(4) (A) 83y (R) d=o
128. Read the following and identify the wrong one.
(1) Buddha gave his first sermon on deliverance from suffering to his five former
companions in adeer park near Benaras
(2) The ultimate goal of the Buddha's teachings were the attainment of 'Nibbana' i.e,
liberation from the cycle of birth and death
(3) Buddhist nuns strictly avoid following; theft, sexual activity, lying, use of intoxicants,
eating after midday, attending entertainments, use of perfumes and jewellery

(4) Buddhist texts reflect revolutionary ideas about women and stressed that women should
have freedom to shape her life and personality

8o Trgdsned® d8 H0w000d 57K

(1) S8 erdos 52800 T Aarden @ DTN S5 B0éIncied HoBTR) ek
S5 ©oEHE Pdg HT TR BIED HaHINS® Ko Boe FEn S IINORLD

(2) 2060 Boof) Jr@dne ©085 &FFo VS’ FHotdo oI 2dS Soderen
©IJ BEo 0od JB0ED Foddo

(3) TEHS agSoeo (NUNS) & Bod TBI Fram Sgeotdocsnd. ©d IS :
S oRSSd0, %e‘)omdé.)aé‘ F o, @eago BINEO, J0&y K)wgfﬁa@o 0, STPgI0
Soogd efudo Boodo, BoroFrogHoond SdHew TEEo, BT I3 20w
5°8g8erNBNOB $rdom oddo 8% eiddnoln §dowio

(4) 23"’63863@5 (oG a0en L?_OOQJ DAHI0S® Séwééééaowé PHII0OE FO Gramo. S0
Boog), FDAGED0, $g8SHNG Yo 0B VEFTEIN QT VD ELBGToN.
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129. Which of the following text does not come under Sruti literature

130.

131.

P31

(1) Brahmanas (2) \Wedangas

(3)

Avranyakas (4) Upanishads

& (808 TAS' Q) (Hogo #HB Fxo0S® o s

(1) im0 (2) IororSooen

Match the following
List - |
(Ashoka's minor rock edicts)
Rajula Mandagiri
Brahmagiri
(c) Nittur
(d) Rupnath
& 1808 T BEDSB0
e - |
(25°500 B 86 o8 TIIS0en)
orere oKAd
(CSESYILe
(c) &5
d) &rdas
The correct answer is
BOROS BEFEEB»

@ ® (© @
Q) i i i v
(3) iii iv i ii
Match the following

List-1 (Authors)
(@ ILangovadigal
(b) Sattanar

(c) Tiruvalluvar
(d) Nathamuni

& 808 T BBDHBWIB0
DS - | (§K000e8)
QOO IEKS
D86
(€) 8HSors
(d) g0
The correct answer is
BOROS BEFEEB»
@ ® () (d)
Q) i i i v
3) v ii i i

(a)
(b)

(@)
(b)

(@)
(b)

26-C

(3)

(i)

(i)
(iii)
(iv)

(2)
(4)

®deagsoen (4) &39H8e0

List - 1

(Its present location)
Chitradurga district, Karnataka
Bellary district, Karnataka
Jabalpur district, Madhya Pradesh
Kurnool district, Andhra Pradesh

e - |l

(D8 By, RS (@Froko)
S Bex, STOE
Brd 2o, T8
2056 B, DEH1BT
EEMS 2er, oSBT

@ ® © o
ii i iii iv
iv i ii iii

List - 11 (Texts)

Manimeklai

Silappadikaram

Nalayira Divya Prabandam

Tirukkural

e - 1l (Kogsn)

SoeBond

FomBsdo

doono” 83 Wog0

8KE) IS
@ ® «© O
i ii iii iv
ii i iv iii
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132. Identify the wrong pair
(1) Chera-Bow (2) Chola-Tiger (3) Pandya-Fish  (4) Pallava-Peacock
& 1808 TAS® DB HOWONS ST

(1) B8-dexn (2) S*¢-HO (3) rocg-Bd (4) $95-3500
133. Arrange the following Ayurvedic doctors in a chronological order according to their

existence

a) Jivaka b)  Vagbhata c) Sushruta d) Charaka

& (808 3050058 Iogor T ASZVoNS e w8 ESrSorSon |IPasnk0

a) 25808 b)  ared C) Dbk d)  wSEBs

(1) dabec (2) cbda 3 acdb 4 bdac

134. The early Sathavahana coins were discovered at

(1) Kaotilingala (2) Paithan (3) Nashik (4) Dulikatta
O TEFTT OO FBI0D JFE ©IgR000I00
(1) &'€domro (2) 2o (3) o8 (4) &r98
135. In which language many Kanishka coins and inscriptions are available
(1) Prakritalanguage (2) Bactrian language
(3) Greek language (4) Afghani language
EAQ By, TBH0en $00I0 THSHNL AEYIT @ PAS" EgHPET00
(1) &8s oA (2) erfos wrd (3) B8 i (4) o399 ¥ri
136. Match the following
List - | List - 1l
(wars) (year)
(@) First Tarain war (1 1191
(b) Khanuawar (i) 1576
(c) Talikotawar (1i1) 1565
(d) Haldighati war (iv) 1527
808 T 2EHKHTWIS0
e - | e -
(oﬁaacgéaaen) (CSICREAANY)
(8) RoosE Sorond ango (i) 1191
(b) sresg oSogio (i) 1576
(c) S98°¢ aSngo (iii) 1565
(d) SgmES asogo (iv) 1527

The correct answer is
BOGS BEPET I
@ ® @ @ @ ® («© @
i i v Il (2) i v il i
(3) iii ii i iv 4) iv iii ii i
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137. Which one of the following statement is not correct about Vijayanagara period?

Abdur Razak, a Persian traveller observed about city of Vijaynagar “the city of

‘Beejanagaur’ is such that the eyes has not seen nor the ear heard of any place resembles

1)
itin the whole world”.
(2) araye .
and Jews with kindness and compassion
(3)
(4)

Krishnadevaraya though a follower of Vaishnavism, treated shaivites, Jains, Christians

Irugappa, the general and minister of Harihara Il authored ‘Nanapatharathamala’
According to ‘Rayavachakamu’ there are five kinds of forts in Vijayanagara kindom:

giridurga, staladurga, Jaladurga, vanadurga and parvatadurga
& 808 IS Q) Trgdo DRANIKEBNHE HowoHOD BB WoNIH G

(1)

FEIE SIro@Sodans waS Sl DaabSKESND {rl) DBOHT “DRKrE D0

o8 TQ) HOBINS® & SPEBED DSBS @IodoNTE”

(2)

SRS IAVISY) J"é(\)@goés oW Ed

(3)
[oIAIO AN,

(4)

ée)KG%BX)U"oSJw SRINEI00 ©I00N0NIHYIE 3Ho, BIool, ByYolo Hodasn
BoKS OIS B, DIRHE ©oS 2HDY, ‘D 6@5}*@’ 30 (ot

‘ToaE0” (H5°E0 DeaHING T30S’ BN 5T §len ok, ©& AdGES0D,

RO $o8B0nen, BOEHa0e, S3oEI0ed 08080 DIt SrdSnen

138. Match the following
List - |
(Kingdom)
Ahmednagar
Berar

(c) Bijapur

(d) Golkonda

& 1808 I°AD 2BEDHETWIS0
e - |

(a)
(b)

(oresg0)
©5mESKE
Blexle)

() Ders

(d) Aeod

The correct answer is
BOROS BSFEEB»

(@)
(b)

@ ® (© (d)
(2) i i i v
2 v i i iii
3) ii iii i iv
(4) iii i i iv

P31

28-C

(i)

(i)
(iii)
(iv)

List - Il

(Ruling Dynasty)
Adil shahis
Nizam shahis
Imad shahis
Qutub shahis

e - |l
(H83O0NS So%0o)
WS eren
QerSo hren
Q308 Yreren
K00 reren
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139. Name the Medieval Sultan who imposed a ban on “Sati’ condemning it as an unfair practice

(1) Balban (2) Alauddin Khilji

(3) Muhammad bin Tughlaq (4) Firuzshah Tughlaq

B0ggosnsto T8 J DS V8 sTESn TTEid Ao AuRoRH

(1) ereoye (2) voads 99

(3) &S s (4) 268> i
140. Which one of the following temple have erotic sculptures in large number

(1) Ramappa Temple (2) Konark Temple

(3) Pattadikal Virupaksha Temple (4) Brihadishvara Temple

& 808 BoHINLS® BIS® JEYIT TeRenB FHorrd KohHes” BrésS B ddne S

(1) ooHdy Baredso (2) S'erd), Barewdo

(3) HLEES Socd Ko JErrg Barewodo (4) ayrdid darodho

141. Assertion (A) : The Mughal emperors had complete sovereignty, not only internally but

also externally

Reason (R):  They refused to recognise any external authority like the Caliph as their
superior

The correct answer is:

(1) (A)and (R)are true (R) is the correct explanation of (A)

(2) (A)and (R)are true (R) is not the correct explanation of (A)

(3) (A)istrue but (R) is false

(4) (A)isfalse but (R) is true

W8I>SS (A): @odddornr 5°Q, erirgorr M I00S Foiren Fr FEF" e 0
89 w8

5600 (R): % 50 Somgor pdr Bwg) 05 EH808 KHgosBEd

5BE0S DETTED:

(1) (A) 208050 (R) dzzo 08050 (R) (A) $80 $58 ®ond 9580

(2) (A) 208050 (R) Bodr dz0. 572 (R) 350 (A) 58290008 58 570

(3) (A) dzo 572 (R) 82y

(4) (A) 85 52 (R) d=o

142. Which one of the following fort was not conquered by Shivaji from Bijapur

(1) Raigarh (2) Javali (3) Kondana (4) Torna
& 1808 TBS® D Bl 3, DY od SEoWBH
(1) oKk (2) =359 (3) Fo&s (4) &6
143. The firsttelegraphic line introdued by Lord Dalhousie in 1853 ran between
(1) Bombayand Thana (2) Calcuttaand Madras
(3) Bombay and Madras (4) Calcuttaand Agra
1853¢5° &S5 orgd (HRF &GS Sod8ien (telegraphic ling) €x8od a3 Sodsg Faed
(1) oo 500050 T (2) Eoée $o005n LT
(3) erod Ho8osn KD (4) Eoée 500050 e
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144. After observing the early Indian National Congress activities who said that “The Congress
is nothing but a three day thamasha”
(1) Dadabai Naoroji (2) Ashwini Kumar Datta
(3) LalalajpatRai (4) Aurobindo Ghosh

v rdd FEOH SORD B FOTE SEEHBN 0K HA0D “ToRD WoB Kk
e SSrar &) 506 57 ©d &0

(1) ooreron I&° (2) @3 Hir6 Se

(3) wrorozdSs oo (4) o8& QA

145. Which one of the following statements is wrong about ‘satyagraha’
(1) Satyagraha considered as ‘Love Force’ and “Soul force’

(2) Satyagrahaconceived as a weapons of the weak
(3) Satyagraha conceived as a weapons of the strong
(4) The aim of the satyagraha is the conversion of the opponent by self suffering

& 800 DEIFEHOS’ I HSGUIrE0SE Ho0fod HB ©ood 57K

(1) Ddergiidro ©oB (o’ 50050 ‘wodord) & esonowio

(2) Jeorguiaro werde Bng) Ba50E0

(3) Jdegidro wesode RwE), a0

(4) Ddergidro GwE), &3I0 D008 S35 B0l HEET BTV Sord)tosn

146. What is the original name of Bodhan

(1) Indur (2) Andhaka (3) Mulaka (4) Podana

SES Hroy TS0 DAEB?

(1) =2o&>5 (2) oogs (3) S (4) a8
147. Match the following

(@ Halika (i) Carpenter

(b) Kolika (i) Cultivator

(c) Kularika (iit) Weaver

(d) Vadhika (iv) Potter

& 8§08 A 23EIBTWNBD0

(@) %08 (i) Sgon

(b) &g (i) Sgdrasoadoc

(c) &eodsE (ifi) I8395°80

(d) s&s (iv) %0500

The correct answer is

BOROS BEFEEB»

(1) a-ii, b-iii, c-iv, d-i (2) a-i, b-ii, c-iii, d-iv
(3) a-iii, b-iv, c-ii, d-i (4) a-iv, b-i, c-iii, d-ii
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148. At which place in Telangana large number of Roman coins were found.

(1) Keesara (2) Chaitanyapuri  (3) Gutiparthi (4) Saleshwaram

BOOMRS™ O DRSS’ DEING0S® FHon TBR0 oHLYBI 00

(1) 835 (2) BS55H0 (3) Koe3Hd (4) B850
149. In Ancient period which one of the following Rivers was called *Telivaha’

(1) Krishna (2) Godavari (3) Manjira (4) Musi

0S 5700 & 8§08 SHoe® A& BOTH M HenS0&0H?

(1) & (2) A= (3) Soodoe (4) Sord
150. Who was the author of the text “Kavijanashrayam™?

(1) Somadeva Suri (2) Pampa

(3) MalliyaRechana (4) Satyasraya

‘EDRTF0%00” Kog SuSond DS5E?

(1) B30 (2) Hod (3) $0QoH TS (4) DdergEod

151.

152.

153.

154.

P31

Bawari from NorthernTelangana was converted to Buddhism and he was the earliest to
propagate it. Which one of the following text mentions about him?

(1) Suttanipata (2) Kalachakra

(3) Gadhasaptasati (4) Kathasarithasagara

& g8 Boomnd BodI &b TR Q) VEE00D TAN T°gey BT, oS KBoD &
808 Homreod® 6 BwnyEod?

(1) 2ogars (2) souE (3) e 3598 (4) sgdden)Ks
Which one of the following was called Sultanpur during the medieval period?

(1) Karimnagar (2) Warangal (3) Nizamabad (4) Medak

5065y BRMTOS® &% 808 IS” BIJ IO Heosadod

(1) 8603K56 (2) S8okS (3) Jderdrerd (4) 08§

Which one of the following Dynasty introduced the Ayagar System in Village Administration?
(1) Satavahanas (2) Vishnukudis  (3) lkshvakus (4) Kakatiyas

& 808 T H0TOS” IS [0 DOFOSS® oS ) PRFDLT D

(1) =z  (2) dysoden (3) asgsoen (4) s E&8csnen

Where did the Battle between the Kakatiya armies and Jampanna, the son of Sarakka took
place?

(1) Dayyalamadugu (2) Muzzampalli
(3) Manchukonda (4) Dharmaram
5°88a%H PIgOB B FEE), BoSrSdy 200980 &y oﬁaac(go A8 ¢ 230808
(1) Sosrgo Sacoid (2) H0gond
(3) SooNoFod (4) &omyso
31-C
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155. Match the following :

(@ RelaDance Q)

(b) Gusadi Dance (i)

(c) Mutyampeta (D)

(d) Bhimgal (iv)

& 808 A zséédaaéaa

(@) Beor SyEg0 ()

(b) Kr>rd Sysg0 (i)

(C) Sooggow (iii)

d) dHKS (iv)

The correct answer is

BOROS BEFEEBE»

(1) a-i, b-ii, c-iii, d-iv (2)

(3) a-iii, b-iv, c-i, d-ii 4
156. Match the following:

Organisation

(@) Border Security Force Q)

(b) Indo-Tibetan Border Police (i)

(c) Sashastra Seema Bal (iin)

(d) CoastGuard (iv)

23S D B0TI00:

(@) BBy WS S¥o (V)

(b) 20&-BBES B0y Sgeo S¢S0 (i)

(c) L 550 o080 (iii)

(d) &8Eros 888 $¥Sm (iv)

The correct answer is

BOROS BEFEEB»

(1) a-ii, b-iv, c-i, d-iii (2

(3) a-iv, b-ii, c-i, d-iii 4
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Kondagattujatara
Limbadrigutta
Koyas

Gonds

Sodney ersd
Doer|B%8
§Pa%oen
Fodoen

a-ii, b-i, c-iv, d-iii
a-1v, b-iii, c-ii, d-i

Year of establishment
1963
1965
1978
1962

DY HoBSSB
1963
1965
1978
1962

a-ii, b-iv, c-iii, d-i
a-iii, b-i, c-ii, d-iv
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157. Choose the incorrect statement/s from the following:
a)  The National Physical Laboratory is situated in Lucknow.
b) Indian Research Station ‘Himadri’ is located in Arctic region.
c) Central Food Technological Research Institute is located in Mysore.
d) Central Rice Research Institute is located in Bhubaneswar.

Bod TgPIOS’ HOGTID IB/D A?

a) IFASS DS rafLd 0§)S' Sod.

b) g8 H8FET S TEFB 68 BE SRcHSS® Sud.

C) oS D& Beonss 836 adRtorgds Fodres® Sodh.

d) 35 636) asRergdl sHSIHES” o,

(1) a&c (2) b&ec (3) a&d (4) b&d

158. Read the following statements:
A) Commonwealth Games, 2014 were held in Kaulalampur
B) Kabaddi World cup, 2016 will be held in Ahmedabad
C) National Games, 2015 were held in Kerala

o Trgpgodo KSaS0é:

A 2014, 550338 Bden TOreoRrss® JEaroHaEon

B) 2016, 8a2& ©d0d 89980 9T merd edggdodyod

C) 2015, erdck §den SEFS* DSrodngon

Choose the correct statements:

88 Frgpgosy ook

(1) A&B (2) B&C (3) C&A (4) AB&C

159. Highest bridge in Indiais

(1) Sevoke bridge (2) Naini bridge

(3) Chambal bridge (4) Ellis bridge

T ESREHNS® IBS F08BY AB?

(1) 55 5085 (2) 32 5089 (3) Sows 5085 (4) D85 0B
160. Mahatma Gandhi Peace Prize for the year 2014 was given to

(1) ISRO (2) Chandi Prasad Bhatt

(3) Desmond Tutu (4) Missionaries of Charity

30H8E) mod T8 2HVNS, 2014 Sroddarso

(1) ISRO (2) Wob PHFE& S

(3) @& K& (4) DASBD eH 00
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161. Match the following:
List - | (Day) List - 1l (Date)

a) Earth Day (i) 22" April

b) International Tigers Day (i) 8" June

c) World Oceans Day (iii) 29 July

d)  National Sports Day (iv) 29" August

8o& LA 2SDHSWod :

D88 - | (BS'E)%0) 288 - 1l (38)

a) $0@ aStS0 (i) @S 22

b) wodgéahH Heve BT H)So (i) e~ 8

C) Kdow Il dSS0 (i) 28 29

d) =80 § a0 (iv) e 29

The correct answer is

HOGH HEFFEE

(1) a-(iii), b-(i), c-(iv), d-(ii) (2)  a~(iv), b-(ii), c-(i), d-(iii)

(3) a(ii), b-(iv), c-(iii), d-(i) (4) a-(i), b-(iii), c-(ii), d-(iv)

162. Read the following statements:
A) Thefirst state in the country to draft its own internal security legislation is Maharashtra.
B) The city to host Bharatiya Pravas Divas in 2017 will be Hyderabad
C) Thefirstisland district that emerged recently in India is Majuli

o Trgpgodo KaS0é:

A) ©0883 PG SR Do) I THEN BoHoY

B) 2017&° er880% Hard 63D e8Eg0 a)d wrdorerd Sido

C) rdstd0S’ alleo wIS00DS &0 Brd B Hoerd

Choose the correct statements:

88 Trgpgod BendHol:

(1) A&B (2) B&C (3) C&A (4) AB&C

163. Sex ratio means (from among the following)
(1) Number of males per 1,000 females (2) Number of males per 100 females
(3) Number of females per 1,000 males (4) Number of females per 100 males

Bod TBS® doK ARG 2B?
, 08 (N G YL Jop
1) 1,000 %o Li 8 &d) Yo Jopg
08 RO BR) YL Jop
2) 100 %o Li 8 &l Yo Jopg
, 08 HHIOE G o Jop
3) 1,000 %o QDR ) Li Sdopg
4) 100 £08 HHDOH &5 N Hdop
AN )
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164. Choose the correct match

Army Navy Airforce
(1) Captain Sub-Lientenant  Flight Lientenant
(2) Major Commander Squadron header
3) Colonel Commodore Air commodore
(4) Major-general Rear Admiral Air vice Marshal
HORS BES BRSO

8y ) Q0056
(2) EEN JEBHJ0eS PONE BYBoE
(2) Sous E5r0i6 MBS B
(3) SN ESr0iE o0& E5r0K8E
(4) Dzb-=38S5 86 w& IS Qo IO HrdS

165. Assertion (A) : Urban center with more than one million population in India is called as
metropolitan city

Reason (R):  Accordingto 2011 census there are only 12 metropolitan cities in India
The correct answer is

(1) Both (A)and (R) are true and (R) is the correct explanation of (A)

(2) Both (A)and (R) are true but (R) is not the correct explanation of (A)

(3) (A)istrue but (R) if false

(4) (A)isfalse but (R) is true

WSS (A): rESRF0S” a8 WONS aoers® N SKord) BT FOLS D ©
DO,

s°80 (R): 2011 sorer B o WsEo rSBI0S” Shwo 12 @R B rdLS
2Ben (SKoren) o).

HBGNE DITF IS0

(1) (A) 506050 (R)Bodkr $85053 %8050 (A) & (R) $66308 2588
(2) (A) 506050 (R) 3ok $663053 520 (A) & (R) 9808 50 590
(3) (A) %8586 (£3%) 572 (R) 8y

(4) (A) 853 =0 (R) 838 (305088)
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166. Read the following statements:
A) The DWCRA aimed at providing self-employment to women of BPL families.
B) The NREP was launched in 1980.
C) The NSS organisation gave three concepts of employment to measure its status-usual
status, current weekly status and current daily status
D) The PMRY aimed at providing wage employment in rural areas
Which of the statements given above are correct?
(1) A,BandConly (2) B,CandDonly
(3) A ,CandDonly (4) A,BandDonly

8B ISR WEH0& :

A) oSy TpE BHSS Ko HrFosy dioho e §9)ouad8 agEe DEEo
G 33080308.

B) 80k (rovm eard H¢5°Q) 19808 $058)808° @HBFREPE

C) e&ghe R8I B 0BT FTED JB, TEHETS 28 $6050> FaraTd 38 ©H
Sy eSS $08 TG0 | | |

D) |rdom osros® 355 ¢ >0 E0Y0 BT A8 T SH08 FTEMTE Sorad egFoswdod

P SIS A H0WoSD?

(1) A, B5o8osn CSomgd (2) B, C 008050 D S50
(3) A, C5080%0 D S5 (4) A, B5o8030 D S5
167. The present Indian permanent representative to UNO is
(1) Nirupama Sen (2) SyedAkbaruddin
(3) AK.Mukerji (4) H.S.Puri
0850y SAS® erdd TS WA (HES0)
(1) SIS (2) dcgh e§ie
(3) 3. Sopf (4) =S%. Jrd
168. Which of the following are the three major forms of pollution?
A) Air pollution B) Water pollution
C) Noise pollution D) Land pollution
The correct answer is
(1) A,B&Conly (2) B,C&Donly
(3) C,D&Aonly (4) D,A&Bonly
8o TBS* Kord TS SPeody sten (Srdren) I?
A)  Tosn stendgo B) & srenidgo
C) & srendgo D) &08® sendgo
BOROS BEFEEB»
(1) A B&C3» (2) B,C&D S
(3) C,D&ASHED (4) D,A&BSxg
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169. The National SC/ST Hub will be launched in the city

(1) Jaipur (2) Agra (3) Nagpur (4) Ludhiana

B0 NdrgS Seore/Bie TEH @S0 SKESw

(1) 3856 (2) e (3) &hIrs (4) erdosrs
170. Theworld’s largest solar power plant is installed in the state

(1) Rajasthan (2) Tamilnadu (3) AndhraPradesh (4) Haryana

BDoBINS" ©dg08 YRS FEFE &P SoESndd FEoPoRS orHidn

(1) c=xS (2) S2g%0 (3) soas (4) &ogs
171. Smallest parliamentary constituency in terms of number of electors is

(1) Ladak (2) Damanand Diu

(3) Lakshadweep (4) Andaman and Nicobar island

&8 Ddopg Serg 08 DY) S8 ARBTeE 550

(1) o«§ (2) @ & &osn

(3) o8& (4) ©0ds5rS & J8%erS Hgdio
172. Match the following:

Day (Significance) Month

a)  World Kidney Day i) Feb,4

b)  World Cancer Day ii) March, 24

c)  World Tuberculosis Day iii) March, 10

d)  World Disabled Day iv) December, 3

P EBREL0S® JSrard rossE DD FEYI0 SVoAI JodEHBDw

Se | So0pges So

a) @dol 83 Sew 1) Do 14

b) ©Hol 55 & i) S8y 24

C) Hows gaso S i) $>§) 10

d) ©dos dEorove & V) &ox63

The correct answer is
BOROS BEFEEBE»

(1) a-ii, b-iv, c-iii, d-i (2) a-iv, b-ii, c-i, d-iii
(3) a-iii, b-ii, c-iv, d-i (4) a-iii, b-i, c-ii, d-iv
173. The first sponge iron plant was established in
(1) Telangana (2) Andhra (3) Rayalaseema (4) Bundelkhand
0068 Yo 88 TS JEANS BT
(1) Beorre (2) o (3) orcShedso (4) enoBSmo&
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174. Choose the incorrect pair from the following:
Stadium Location Stadium Location
(1) Keenan stadium Jamshedpur (2) Shivaji stadium Pune
(3) Ranjistadium Kolkata (4) D.Y. Patil stadium Navi Mumbai
8ol T8S® JHORS 28 IR ¢
EolaYeNSISY) DBFS0 AR DBFS0
(1) 838 &% 2o wEYE (2) 3z Q& Hre3
(3) Soz& R&& Soier (4) &3>85 QYa&HD S Swowown
175. Match the following:
Day Date
a)  National Science Day i)  October, 8
b)  AirForce Day i) February, 28
c) NavyDay i) May, 21
d)  Anti Terrorism day iv) December, 4
808 B 2EHSTS0
&e2 SO0
) w=dah TR OS5 1) o865, 8
b) oo d &3S» i) e, 28
C) IJTo8¥ OIS0 i) o, 21
d) eord 53838 B35 V) &ow6, 4
The correct answer is
BORIS BSFEEHM
(1) a-iii, b-i, c-iv, d-ii (2) a-i, b-iii, c-iv, d-ii
(3) a-ii, b-i, c-iv, d-iii (4) a-iv, b-ii, c-iii, d-i

176.

P31

Consider the following statements

a)  Supreme Court Constituted Social Justice Bench in the year 2015.

b)  The Social Justice Bench of Supreme Court was set up by the Chief Justice of India,
H.L. Dattu.

c) The Social Justice Bench sits every Friday to hear the cases.

Bobd argpgolo HOHES0R)B0:

a) 2015 &° oo F rdres Tgob BodK ASEDSE.

b) Do 8E Fires Tgoh Bolo grdd HES F°5oHrg TE.IS. &) AEBAT .

C) 8 HETEHN Fdres TogodH Dol gaganen H83O0WS.
Choose the correct statements :
DBGDI Frgpgen !

(1) a&b (2) c&a (3) b&c 4) a
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177. The Chairman of Commission on De-Notified and Nomadic Tribes is

(1) Shravan Singh Rathore (2) BhikuRam

(3) KariaMunda (4) Babulal Marandi

AIEPE J0800 Jowrd o RS FON:

(1) @35 2oh oo&’s (2) 9% oo

(3) 8Ba%H Lwwod (4) ereners So8od
178. Bharat Nepal Maitri bus service runs between

(1) Delhito Kathmandu (2) Varanasito Kathmandu

(3) Allahabad to Kathmandu (4) Gayato Kathmandu

P88 IFS B 2D D8R & SHoren

(1) &9 SoBosw grevyodd (2) &erd HSoBon grivodk

(3) woFFrd $o8a50 ok (4) Koo H08080 greayocd

179. Consider the following statements:
a)  Operation Rahat, 2015 was commanded by Gen V.K. Singh.
b)  Operation Rahat is a rescue mission to evacuate Indian civilians from Syria.
c) INS Sumitrawas deployed in Operation Rahat

Bod argpgolo HORES0RB0:

Q) ©dodS oS, 2015 K I 0308 S50 S0 2385 D.3. JoA.
b) 20805 S0d s T S§oBolodd 2)636&:6& BIHVAS TS,
C) @583 TFrSS® pISID NGB GHIBFAODT .

Choose the correct statements:

BOROS argag(en):

1) a&c (2) a&b (3) b&c (4) ab&c
180. Match the following:
Minister Union Government
(@ H.M. Patel (1)  Finance Minister, N F Government
(b) Indrajit Gupta (i)  Defence Minister, NDA-I
(c) Madhu Dandavate (iit)  Finance Minister, Janata Government
(d) George Fernandes (iv)  Home Minister, UF Government
808 LB BSDGH00:
S001® SOl (8080
(@) EAR0. HBS (i) 08 7 H08, 8D oy Hehdgsn
(b) 2oB=s D (i) &8 T 008, deda-l Hebeekn
(€) %56 Somsa (iii) ©08 T 5008, wder HISED
(d) =g Doors (Iv) &0 p 0@, B0IBE oS HEOSgH0

The correct answer is

BOROS BEFEEB»

(1) a-ii, b-iv, c-i, d-iii (2) a-iv, b-iii, c-i, d-ii
(3) a-iv, b-ii, c-i, d-iii (4) a-iii, b-iv, c-i, d-ii
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181. Assertion (A): During summer season Intertropical Convergenic Zone (ITCZ) is located
to the north of Equator.

Reason (R):  The northward shift of ITCZ over India leads to onset of monsoon.

The correct answer is

(1) Both (A)and (R) are true and (R) is the correct explanation of (A)

(2) Both (A)and (R) are true but (R) is not the correct explanation of (A)

(3) (A)istrueand (R) is false

(4) (A)isfalseand (R) is true

WEFSS (A): I 5°008° WodS oSTyr WHIT Dodwo FrdoEgdns vgsom
t0ol0o&.

s~8eo (R): @088 ©oDHSP° ©HHTe okwo &S0 BEYM FEETFo Iy IYdko
59 20HIITBEBoBE To8J0m0.

BOROS BEFEEB»

(1) (A) S00050 (R) Sodor 5053083 0800 (A) & (R) 98808 D58

(2) (A) S00050 (R) Bodr 586083 57 (A) & (R) 98808 D58 576

(3) (A) 285088 SoBasn (R) 859

(4) (A) 853 500050 (R) 208088

182. Match the following:

List - | List- 1l
(@ Autotrophs (i) Transfer of energy from one level to
another
(b) Hetrotrophs (i) Hierarchical arrangement of organisms
(c) Tropic structure (D) ]I?e[()jends on other organisms for their
00
(d) Food chain (iv) Prepare the food themselves
808 B BSHEOH0
D838 - | H838 - I
(@) eetEroen () 28 BIS S0k 908 BISS'8 4§ $0)B
(b) ZrEstErden (i) 2Ho FBcswd ESowdssem
(€) &rE $55 (Eros domeo) (i) 380 565 add 2Po BEEHELo
(d) 5% Socho (HE BI) (V) ©30Q) &R Sairdadns’Sdo

The correct answer is
BOGS BIPEH0

@ (b (o (d)
Q) v ii i i
(2) il v i i
3) i i i iv
4 i i i v
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P31

Match the following:
List - |
(@ Guru Shikhar Peak
(b) Dhuadhar waterfall
(c) Thalghatgap
(d) Coral reefs
808 T BSI8Wok:
D38 - |
(@) %S 3pd 3poeo
(b) &>z zodrso
(€) ®SmE gD
d) oy D88
LORS ddrerdo
@ 0 (©
Q) v i i
(2) iii iv i
3 i i iii
4 i iii i

Match the following:
List-1

(@ Kalpakkam

(b) Narora

(c) Kaiga

(d) Kakrapara

808 T3 BSVGH[ :
D38 - |

(@ 8ogo

(b) &&o

(©) 3

d) sEgaro

The correct answer is

HOGS BIPEH0

@ (® (o
Q) v i i
@) i v i
(3) i i i
@) i i i

(d)
|

zz=

X1

41-C

(1)

(i)
(iii)
(iv)

(i)

(i)
(iii)
(iv)

(i)

(i)
(iii)
(iv)

(i)

(i)
(iii)
(iv)
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List - 11
Lakshadweep islands
Western ghats
Narmada river
Aravallis

$e38 - |l
o§Boren
5850 ESooeo
SE T I8
TepT-STSV)

List - 11
Guijarat
Karnataka
UP

Tamil Nadu

D38 - I
BT S
goneog
&3 HBT
SEAII
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185. Assertion (A) : Tropical cyclones taking origin in South China sea is called as Typhoons.
Reason (R):  The isobars of tropical cyclone are circular in shape.
The correct answer is
(1) Both (A)and (R) are true and (R) is the correct explanation of (A)
(2) Both (A)and (R) are true but (R) is not the correct explanation of (A)
(3) (A)istrueand (R) is false
(4) (A)isfalseand (R) is true

WEFSS (A): &8 BIS® 30TV Gty FETOSH BIrdowotrd.
sdmo (R): elHode SETrere ddndn Spw S6Q s E0s® eotrow.
SO HEFEDED

(1) (A) 208050 (R)Bodksr 508083 So8asn (A) & (R) 503308 dd8e

(2) (A) 208050 (R) Bodkr 3883053 520 (A) & (R) 385308 D380 5760

(3) (A) 98886 58052 (R) 59

(4) (A) 853 S00c50 (R) 5080858

186. Assertion (A) : Global warming is caused due to increasing presence of green house gases
and ozone layer depletion.

Reason (R):  Global warming is responsible for lowering of sea level.
The correct answer is

(1) Both (A)and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)istrueand (R) is false

(4) (A)isfalseand (R) istrue

B8>ES (A): (5 75 I Smsoddo $o $000 LIS &6 §aho S ©Ho
g mgoen Ddgcéoéoo&.

s8mo (R):  dd0@ $odgo HAFYHesHd HHows erasdndd sdmrodo.

BSOS HBEPGED

(1) (A) 0030 (R) Bodr $0G08S $o8a50 (A) % (R) 988308 D30

(2) (A) 28050 (R) Sodr 386083 570 (A) % (R) 90R08 D58 5760
(3) (A) 205086 $ooos» (R) 8d9

(4) (A) 3008 ek (83) 50050 (R) 9808
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187. Read the following statements:
a)  National Advisory Council was established by NDA Government
b)  The chair person of National Advisory Council was Sonia Gandhi
c) National Advisory Council advises Union and State Governments
d)  Prime Minister is the Chairman of National Advisory Council
8o Trgpgedd KRS0
2) @8 JoH H0ddI ISR HeHELHN IEYEDSE
b) AS> mod 8% VOB Hodd wEgoren
C) Bol§ $080» TrY WEHSENOLH EAH VOTE 06O Joter LN
d) 8ok doBs 5080 et BES 0@
Choose the correct statements:
DOGE FgWeo AD?
(1) a&d (2) bonly (3) a,b&ec 4 b&d

188. Electronic voting machines were used in general elections of state legislative assemblies
for the first time in 1998 in the following states:
a)  Madhya Pradesh, Rajasthan and Himachal Pradesh
b)  Rajasthan, Uttar Pradesh and Bihar
c) Madhya Pradesh and Kerala
d) Madhya Pradesh, Rajasthan and Delhi

1998 @08 Ferdee INFOS' JOFAE Lol cho@dned odBId 2 TFOS®
€ IRFAONIE0?

B)  SoSgedS, Cuys $bekn LEFSSHES

b) oeysS, edEwas HHdake HFE

C) SoPgHBT 0050 8¢

d) S35, ouS S08a%0 62

(1) d (2) c (3 b (4) a

189. Assertion (A): The Parliament can legislate matters in State List in national interest.
Reason (R):  Rajya Sabha is part of Parliament.
The correct answer is
(1) Both (A)and (R) are true and (R) is the correct explanation of (A)
(2) Both (A)and (R) are true and (R) is not the correct explanation of (A)
(3) (A)istrueand (R) is false
(4) (A)isfalseand (R) is true
Y (A): TP DeS wodine ol Hn BobSHd
s8mo (R): oresgdel PEI0LS® errbon
BOROS BEFEEB»
(1) (A) $00050 (R) 2.y $o0050 (A) & (R) 985808 d$8e0
(2) (A) $0805» (R) 22y 520 (A) & (R) 985808 580 5
(3) (A) 2y $o0cs0 (R) 859
(4) (A) 853 $o005» (R) ey
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Read the following statements:

a)  ArunJaitley is the leader of the house in Rajya Sabha

b)  Narendra Modi is the leader of the house in Lok Sabha
c) Venkaiah Naidu is the leader of the house in Rajya Sabha
d) Rajnath Singh is the leader of the house in Lok Sabha

o8& Trgpgedd KRS0

) oragdUSt Hd derTahiak @l B

b) 638 HS deraroHsdy 8ol Iré

C) OTragdEs® BRE deraroiidd BogagTaidd
d) SEIFS® P derarchdud TEIE Dok
Choose the correct statements:

DBIDI Frgpgot BRI

1) a&d (2) b&ec
3) c&d (4) a&b

Assertion (A) : Indiaisa Republic

Reason (R) :  India has universal adult franchise system

The correct answer is

(1) Both (A)and (R) are true and (R) is the correct explanation of (A)
(2) Both (A)and (R) are true but (R) is not the correct explanation of (A)
(3) (A)istrueand (R) is false

(4) (A)isfalseand (R) istrue

Ird (A):  eros8dEsm Kedold Tagsn

w80 (R): arddBddns® 2¥mad Sarad St iy, $558 e
BOGS BETTBE0

(1) (A) 208050 (R) 908085 508030 (A) & (R) 50508 2380

(2) (A) %0805 (R) %8608 570 (A) & (R) 38608 58 570

(3) (A) ady Sodcsn (R) 8y

(4) (A) g2y S00c50 (R) 20y
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192. Assertion (A) : Collective responsibility of cabinet signifies unity and coordination among
members of the council of ministers

Reason (R) :  Itisthe prerogative of the Prime Minister to select or drop a member of
the cabinet

The correct answer is

(1) Both (A)and (R) are true and (R) is the correct explanation of (A)

(2) Both (A)and (R) are true but (R) is not the correct explanation of (A)

(3) (A)istrueand (R) is false

(4) (A)isfalseand (R) is true

D (A): 500@ D080 pEgS 58050 HBEGO0 BN TAIE DY WS
g S0 Do,

52800 (R):  5°OIE 0205 o0 EHD $o8050 ST R0TWEE0 WESS00@ DusEeasd
BoHIS

2BGI HETTEB0

(1) (A) 508050 (R) 90359 0050 (A) % (R) 6658 D560
(2) (A) 500050 (R) 90535 520 (A) & (R) 900 958w 5
(3) (A) ey S08a5 (R) &3

(4) (A) 835 508055 (R) ey

193. Read the following statements:
a)  Shanmuganathan is appointed as Governor of Meghalaya
b)  Draupadi Murmu is appointed as Governor of Jharkhand
c) Tathagata Roy is appointed as Governor of Arunachal Pradesh
d)  Najma Heptullah is appointed as Governor of Mizoram

o8& Trgpgedy KRS0

Q) R2epIES Fowrodd KSGHET Jo50HBE

b) (@08 S8y &rgol KIGET AoHM0DH2TS

0) STHSToD whmrdS HBT KEGHET AeHD0HIED

d)  SerprQer NETR KSGHET A0H0HNTE

Choose the correct statements :

DBIDS Frgpgot0 BRI

1) a&ec (2) a&b (3) b&d 4) a&d
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The two major components of ‘inclusive growth' in India include

A) Providing economic benefits to hitherto neglected marginalised sections
B) Exporting manufacturing goods

C) Poverty reduction and employment generation

D) Environmental degradation

(1) A&Conly (2) B&Donly

(3) A&Bonly (4) B&Conly

D008 KBS Bok Pard wodoyTes DD?

A)  HSoS® DHBoGS STre 3708 efE DT WokEEo
B) SorgSoarg)oof ($05578) SRy s Voo

C) 2508 JdTmes $ho), e oy

D) Sorgddes Z)B‘QCSSS

(1) AB08050 C S (2) B %8050 D S5
(3) AB08050 B S (4) B %08030 C Som@gR0

Which one of the following statements is correct with regard to population explosion?
(1) Bothhbirth and death rates are high.

(2) Bothbirth and death rates are low.

(3) Birth rate will be high and death rate decreases very fast.

(4) Birth rate will be low and death rate increases moderately.

2T DFYLSH $02080D Bod TBS KIS Trgwy H8?

(1) edare B L0800 Lodeare Béw Voo wHEOM € 0tIeom.

(2) =d5re T 000 Sodegre T Bodsr S8 S €50LTow.

(3) =Scre Bl whEom wod, Sderre Bin FPoom $KHEdod.

(4) =350 B SEY ST &0d, Dre T Iredds” wdKHE0s.

Nobel Prize in Economics was awarded to one of the following :

(1) SirC.V.Raman (2) Amarthya Sen
(3) Ch.Hanumantha Rao (4) C.Rangarajan
o8 708" ¥dTYoS” SWS ITVIBI FoBIE IHE?

(1) %6 2.92. oo (2) oS08y DS
(3) ¥Ts. Hrodood oo (4) . SoKfores
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197. Which of the following statements about poverty are correct?

A) Poverty isa socio-economic phenomenon in which a section of the society is unable
to fulfill even its basic necessities of life.

B) The poverty gap measures the transfer that would bring the income of every poor
person exactly upto the poverty line.

C) Apersonwhose income or expenditure is so meagre that he lives below the subsistence
level is called as ‘relative poverty’.

(1) AandBonly (2) BandConly (3) CandAonly (4) A,BandC

G058 HowoRod Bod TBS' ) FTgwgew JHBID?

A FErESEE SHighoHs DEBE0S® E 8IS EIEBITe8 BESTBR RaS’
J3r20S°Y Peew wotr.

B) ©8 & $g58 emrasrd) ooy O dordol emaird8 dESrdodog $85 08O W
WIS DE0E SgergHo BenEod.

C) 83 88 B5S $gosrd) B T ard) Sra Foddd Hue B ‘Faf Sgaso’m

IS
(1) ASo8050 B Somg3o (2) B 508050 C S5
(3) C L0800 ASmEgd (4) A B%odasnC
198. Which among the following are the two major economic indicators of regional imbalances?
A) Inclusive growth B) Poverty level
C) Per capita income of states D) Social justice

(1) AandBonly (2) BandConly (3) CandDonly (4) DandAonly
8o TBS” (Fodos B1FSOZEK Jowodod Bowd PEY BfE JHrded AD?

A 32098 28 B) 588 drow

C) oo Sodd smaires D) &&re8 orgoso

(1) ASo8050 B Soog3o (2) B $080%0 C S

(3) C 508050 D Som &g (4) D %080500 ASomgRo
199. Which of the following are the spheres of environment?

A)  Atmosphere B) Biosphere

C) Hydrosphere D) Lithosphere

(1) AandBonly (2) A,BandConly (3) A/ BandDonly (4) A,B,CandD
Bod FES® DTSSR BIed ID?

A) edSwo (Atmosphere) B) 2ad80

C) e@orddwmo D) 3ord8e0

(1) AS08050 B Somg3o (2) A, B 508030 CSomgd
(3) A, Bo8030 D S5 (4) A B,C%8cs0D

200. Which of the following decades was declared by the UNO as a ‘Decade of Education for
Sustainable Development’?

8o TBS" J ST wEgTrag VNS WS ©HHY T8 Jory STy m (BEBodos?
(1) 2000-10 (2) 2005-15 (3) 2010-20 (4) 2015-25
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